Algebra Review #4 (Only one more left!)

1. Use the properties of logarithms to rewrite each expression (completely decomposed).  Simplify the result, if possible.  Assume all variable represent positive integers.
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2. Solve each equation:
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3. Verify each equation is an identity. (Remember:  This means you manipulate one side at a time to get to the OTHER side.  DO NOT move objects ACROSS the equal sign.)

a. 2 cos A – sec A = cos A – (tan A/csc A)

b. 2 cos2 x – 1 = (1 – tan2 x)/(1 + tan2 x)

4. Solve each equation over the interval [0, 2π).  Make sure you find ALL solutions in the interval.

a. 2 sin x + 3 = 4

b. cos2 x + 2 cos x + 1 = 0

5. Solve each equation over the interval [0, 360o).

a. 8 sec2 (x/2) = 4

b. sin x = sin 2x
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